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Question No 1 has three parts 1y Part A ) Multiple choice

Questions, in Part (B) Il in the blanks and in Part (C) Write true
false are given Fach question carries 1 mark.

(V) S99 0T 2 8 6 7% Afq . 3aity v B gew 9o 9 s
Fafea &
Question No 2 10 6 are very short answer type questions. Each
question carnes 2 marks

(V) S FHIE 78 10 7% 5fa =vp3wtr woa B gets 9w 913 I
Frafea &
Question No. 7 10 10 are very short answer type questions. Each
question cames 3 marks.

(vi) W &Oi& 11 R 14 7% =1 39 wo= & TR2AF I} Hiafis e
N vAF I W 4 3w IEfa

Question No. 11 to 14 are short answer type questions. kEach
question has an intemal choice. Each question carries 4 marks.

(vil) W HHIE | S TF 16 TY-3009 997 &) TAF 937 F iafia faaca &)
I AF T W/ 5 Aw FrEfea

Question No. 15 and 16 are short answer type questions. Each
question has an internal choice. ach question carries 5 marks.

(viii) ST #HIE 17 @& 18 -39 w7 & wotw we  aviafies freea )
T A® 979 W 6 IAF Aafea

Question No 17 and 18 are long answer type questions. Each
question has an internal choice Fach question carries 6 marks.
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T-1  (T9E - 3) et s e fafa: | 1x5=S|

(Part — A) Choose and write the correct option:

(1)

()

(iii)

af2 WIB:Jiﬁ,a 0 &1 qH &I

(I 30 (¥ 45°
# o0 () 90°
If tan9=~ﬁ, then the value of 6 wi.ll be:
(a) 30° (b) 45°
(c) o0° (d) 90°

& g & T faaon i @ A 2

(3N 4 (@) 8
@ 16 () 12
The number of space diagonals of the cuboid 1s:
(a) 4 (b) 8
(c) 16 (d) 12
ot gefiaor x2 -8x +7=0 %‘E‘ﬁ?ﬁlmﬂm_
N 7 () 8
7 .
- @ |
* 8

The sum of the roots of the Quadratic equation
x2 —8x +7=0 will be:
(a) 7 (b) 8

7

(c) 3 (d) 1
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(4)

(iV) q'ng xz —IOO%W%E

(30 (10,10) @ (-10,-10)
& (10,0) @ (-10,10)
Zeros of polynomial x% - 100 are:
(a) (10,10) (b) (-10, -10)
(c) (10,0) (d) (-10,10)
(v) WWy=Sx+3iﬁTWﬁ'ﬁ:
(3 -5 @ 5
5
@ 3 (<) 3
The slope of the straight line y = 5x +3 will be:
(a) -5 (b) 5
5
(c) 3 (d) 3
a1 | (@ - ) R Tt & qfd fifs: [1x5=

(Part - B) Fill in the blanks:

(1)

(1)

afe x=2,y=3 ar geftar Ix—-4y=p ﬁp‘cﬂ'
= &m

If x=2,y=3 then value of p is in the
equation 7x —4y =p.

@& I & At Wi m g £ v@w

Each side of a regular OcCtagon forn an angle of
____ degree at the center of the circle.
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(i) af grafe @1 @TAT § S 6 oy & QAT AW

R FAREATEE TR faa wr T1fR7Q

If the interest 1s calculated on half-yearly basis in
the fixed deposit account then annual rate should
be taken

(iv)  tan(90°—0) & T ®m
Value of tan(90°-0) will be
(v) fomet g = o 36! s adr &
The diameterof circle 1S its radius.
-1 (TS - ¥) G Iuar Jad fafae [1x5=5]

(Part — C) Wnite True or False:

afe fodt fag & P (0, 2) & A3 =
If the coordinate of a point is (0, 2), then it will be
fereft quiter Ea 1 | & Tpom Y T QiR s

Same integer number is obtained when any
integer number is multiplied by |

5 9T 10 F JTarR 20 #m

Third proportion of 5 and 10 will be 20
mmﬁwﬁmmﬁmmmh

Many circles Can be draw, through three noo-

(1)
faga ®m
located on x-axis.
(n)
T gt &
(iii)
(iv)
collinear points.
K-241100.A
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(6)

-5

-6

-7

(v) mﬂﬁ@ﬁﬁmmwaﬁﬁzmhﬁmh
The compound interest is given for the amount
deposited in the fixed deposit account.

xR x? - 5x + 4 F rGUE #ifay
Factorize the polynomial x? - Sx + 4
freferfea J®E! F1 axets a0 D

102, 103, 102, 101,102, 103, 101, 102

Find the mode of the following data

102, 103, 102, 101, 102, 103, 101, 102

f&g (3. -5) 741 (6, 4) #i dfr= &t g 3@ Fifa

Find the distance between the points (3, -5) and (6, 4).

qarR A2 5, 8, 11, 14 —-—— @7 10 af 92 3@ Fifey
Find the 10® term of the anthmetic progression
58,11, 14 —-

= yra wifag
tan48°- tan42°

Find the value of

tan48°- tan42°

20 Jft 3=m¢ AT I UF ARGANT A5 & AR HI
qftfer 44 @t & I F1 IHY8 I3 Hifog

The circumference of the base of the right circular
cylinder is 44 cm and its beight is 20 cm. Find the
curved surface of the cylinder.

1)

12]

12|

12|

12

131
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(7)
wes g fs o T st qurtes &, et k G e

Prove that 2k +1) is an odd integer, where k is an
integer.

{3

w9y AR 63 A o v YmrEE A 500 &
Mﬁmnﬁmmﬁmmw

lf 863 cm long line scgment is divided into three pars
n the ratio 5:7:9, then what will be length of each part.

Frqaw & A7 W 131

TR0 T wet v 4+ 25y - 120 At vy ARy 131
Find the nature of roots of quadratic equation
y1 + Zng ~1=0. https:/ivww.cgboardonline.com

WR-11 HETY PQ AT RS ¥ & AW 0F R TR ww i

(4]
weft B Al TQ = 3:ht TP - g At awr TS - 4 W
@ TR AN RS i owrd gra iy
Chord PQ and RS intersect each other at point T which

hies outside the circle. if TQ = 3 cm, TP = 8 cm and
TS = 4 cm then find the length of TR and RS.

k"
" OR

férez g % T @87 gy 3 apot o ot A 2 oY
FatF A F ANy

Prove that “In a right angle Tlianglc the square of the
hypotenuse is equal 10 the sum of the squares of the
remaining two sides”
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(8)

T¥-12 ﬁqm@ﬁﬂmﬁ“‘mﬁﬁﬂ 4
. lo-m 10—20]20-‘10]10_40[40-50|50-60 wmj
am - 17 T i1 9 |
Lm—mms '512°.£23 | |

Find the median of the following table:

Classs | 0-10 10-20]2&30]3040}4050 50-60 _60-70J
quucncf:_TSIST20123Tl?|ll o |
A
OR

e grooft @ 9y 3 fifeg
- | 010 10-20‘2(;10 10-407'4050f50-60]mvo]
@ | 10 | 1 |7 4 i 4 ’ 3 } | |
— — — 1 .

Find the mean of the following table:
Class: Jmo%mzol zo-aoJ 30-40 | 4@50

n o7

——ee

4

-, s

50-60 me"
_—
T¥-13 Qﬂ?imﬁﬁ(llﬁ)ﬂqﬂl?ﬁtﬁmﬁm%tlm‘tmﬂ 4]
3 farg 3 x Fderias 0 A, forera s 15 &

5
One Line whose slope is = passes through the point

Frequency: | 10

-

(7, 10) Find the x-coordinate of that point whose

y-coordmatc is1S.
Aqar

OR
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(9)
& TRAR § 5 GUTE 3 VAT Ry g vy Y T o A

ot & mE:
4 | 5
4 | 5

o 1

mwmmmmﬁm%iﬁamm

Quantity of Onion (In kg) used by a family for 5 weeks
are gwcn in followmg table:

Week 1] 2] : TF' '
Quamny of Onion (Inkg) | | | 2 J
Draw a graph ‘between week and Quan’uty of Onion used.

aw-14 2 3t B avelt 64 Mt @t fraera @@ w81 e S [4)
mm %2 M A s Ja Ay

A big sphere is made by melting down 64 small spheres
each of radius 2 cm. Find the radius of the big sphere.

HAaqT
OR

v@ﬁﬁrﬁmﬁﬁ(uﬁmmsmwmﬂm
ST & 10 At '

Find the height of the cone. If its volume is 550cm’ and
its diameter is 10 cm.

TR-15  fadig ad 2014-15 ¥ @& ¥ wtard @ mfew I (FH I51
Rt Wt SIS0 40,000 5 ¥ g% 42,000 &. ATfE T
wifirsa fafer & s 0 X a1 6,000 5, it Sy AR
et ird . 3 a1 A 24 S oy oy g andt P
ufer w g A e W ) 00 000 %
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(10)

maﬁz}ﬁqﬂvﬂ!

w | wdmdm | FERAR
1. [2.50000%. d% _gﬁﬁ'ﬁmq_‘i
2. [2,50001% §500000% % | 10%
KN soooolsﬁlo_éboooasw:——_iquo_ N

ﬁlmm G AT H 3%

The monthly income (excluding house rent allowance)
of a bank employee in the financial year 2014-15 was
Rs. 40,000. He deposits Rs. 42,000 as annually in
general provident fund and Rs. 6,000 as semi annual
premium on Life Insurance Policy. Calculate the payable
Income Tax. All savings maximum upto Rs. 1,00,000
are tax-exempt.

The rates of Tax as follows

S. No. | Tax Lumﬂs Rate of Tax |
1. | Upto Rs. 2,50,000 o CNil
2. Rs. 2,50,001 to Rs. 5,00,000 10%
3. Rs. 500001 to Rs. 10,00,000 20%
_Elau_c_almn Cess : 3% of income payable tax. o
< L[}
OR

2 Y ¥ 1 200 ¥ vfomre £ 2/ 5 ad F forg sradt s
Grar @ afe T H 5% Tffs A Y 5 ad s Y
fareeft gt ww gt

Ravi opened a recurming deposit account in bank of

Rs. 200 per month for 5 years. If the rate of interest is
5% per annum then how much amount will he get after
5 years.

T T T
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(1)
T¥-16  PQR TH awanivr finger & st 2Q =900 B afe PQ =6 151
S AT QR - 8 Ft &, At ¥ gt 35 ofere 1 MO A A
e v fifs ¥ e ot farfiay
PQR is a right tnangle in which /Q=90° IfPQ=6cm

ar_'d QR =8 cm, find the radius of the circumcircle in the
tnangle. Write the step of construction also.

IHqar
OR

5 |t W[ A1) e fnge ABC # o ifog ara @
U 3 FHarg s PQR $Y =1 ifsrg sret P()=%AB

Construct an equilateral AABC with each side S cm.
Then construct another equilateral APQR where

PQ=2AB.
5
w¥-17 1 3R 100 & = wft g TSt 1 FrTe 31a i, (6]
St 3 % U '
Find the sum of natural numbers between 1 and 100
which are divisible by 3.
AT
OR
geftaor & ST
;\c+l__5_—-_l_=_5_;:‘H“'_I

x—-1 x+1 6
Solve the equation
x+1_x-—1=£;x$|,_]
x-1 x+1 6

- P10,
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(12)

aw-18 Ry e & 6]

cosO sin(90° -6)
e
5&(90"-9]"1’] cosect - |

= 2cot(90°-06)

Prove that
cosb  sin(50°-6) _
sec(90°-0)+1 cosecO-1

2c0t(90°-6)

L

OR
hwﬁ{éﬁﬂsmﬁn?ﬁﬁﬁz%mﬁﬁtﬁaﬁaﬁ
qu T Y e & 7 e S @ 60° T HI0T ST AR
¥z & $ard 3ra Hifvg |

A tree breaks due to storm and the broken part bends so
that the top of the tree touches the ground making an
angle 60° with it. The distance between the foot of the tree
to the point where the top touches the ground is 6 m. Find
the height of the tree.

TILIIII
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